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SOCIOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

1. Who among the following authors 6. Who said : “Civilisation is always
initially used the term ‘social advancing but not culture.” ?
physics’ for Sociology ? (A) Johnson (B) Maclver
(A) Spencer (B) Comte (C) Toynbee (D) Berger

(C) Tonnies (D) Weber

7. Match the authors (List — I) with

2.  An author thought of ‘society to be their books (List —II) :

consisting in the consciousness of List -1 List - II
kind’. o
Macl 1. T

Identify from among the following : @ actver S?:;j{gg;to

(A)  Cooley (B) Ward (b) Davis 2. Society

(C)  Simmel (D) Giddings (c) Berger 3. The Social Order

(d) Bierstedt 4. Human Society
3.  What does the social relationship Codes :

primarily involve ? @ (b)) () ()
(A) Institutions

(A 2 3 4 1
(B) Religion B) 1 ) 4 3
(C) Consciousness of other people € 2 1 3 4
(D) Associations (D) 2 4 1 3
4. A group organised to achieve a 8.  Which is the basic distinction
certain purpose is known as which between culture and civilization ?

ing ?
among the following ? (A) Culture is what we have

(A) Institution (B) Community achieved and civilization is

hat spire to achieve.
(C) Association (D) State what we asp
(B) Culture is what comes out of

intelligence but civilization is

5. Who among the following thought of what comes out of experience.
religion to an opium of the people ? (C) Culture is secondary but
(A) Freud (B) Mosca civilization is primary.
. (D) Culture is what we are and
(C) Marx (D) Durkheim

civilization is what we have.
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10.

11.

Ceremonies that mark a critical
transition in the life of an individual
from one phase of life-cycle to
another are called

(A) Role-taking
(B) Rites of Passage
(C) Status Crystallisation

(D) Status set

Who among the following gave the

concept of anticipatory
socialisation ?

(A) Merton (B) Parsons
(C) Homans (D)  Sumner

Read the following two statements
(A) Assertion and (R) Reason, and
select the correct answer from the
codes given below :

Assertion (A): Monogamy is the

most common form  of
marriage in the contemporary
society.

Reason (R) Status of women
gets enhanced only through
monogamy.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

12.

Match List — I with List — II by using
the codes given below :

List -1 List - 11
(a) Ingroup and 1. Homans
outgroup
(b) Primary and 2. Tonnies
secondary group
(c) Gemeinschaft 3. Cooley
and Gesellschaft
(d) Closed and open 4. Sumner
groups
5. Durkheim
Codes :
@ (b (© (@
A 4 2 3 1
B) 4 3 2 1
< 3 2 1 4
D) 4 1 3 2

When a girl of the higher caste
marries a boy of the lower caste, the
system is known as

(A) Levirate
(C) Sororate

(B) Anuloma
(D) Pratiloma

In the matriarchal family the position
of a Woman is recognised to be
supreme in all matters.

Which of the following is not its
characteristic ?

(A) Descent is reckoned through
mother.

(B) Marriage
permanent.

(C) Wife lives in the house of her
husband.

(D) Property is inheritable by the
females.

relations are not
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15.

16.

Who has given the concept of
atomistic family ?

(A) Murdock
(B) Zimmerman
(C) Durkheim
(D) Warner

Match List — I (Rules of Restriction)
with List — II (Name of Rule) and
select the correct answer using the
code given below the list :

List -1 List - II
(a) One should seek 1. Pratiloma
a spouse from
outside one’s
descent group.
(b) Women of the 2. Exogamy
higher caste
cannot marry
men of lower
caste.
(c) One should 3. Anuloma
marry only
within one’s
caste group.
(d) The men of 4. Endogamy
higher caste
could marry
women of lower
caste.
Codes :
@ () (© (@
(A) 4 1 2 3
B) 2 3 4 1
<© 4 3 2 1
D) 2 1 4 3

17. Match List — I with List — II and

Latest Sarkari Jobs, Govt Exam Results
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select the correct answer from the
codes given below :

List -1 List - 11
(Authors) (Books)
(a) Peter 1. The Stages of
Worsley Economic
Growth
(b) W.W. 2. Under
Rostow development or
Revolution
(c) Andre 3. The Third World
Gunder
Frank
(d) Reinhard 4. Nation Building
Bendix and Citizenship :
Studies of Our
Changing Social
Order
5. Asian Drama
Codes :
@ (b (© ()
A 1 2 5 3
B) 3 1 2 4
< 4 3 2 1
D) 4 1 2 5

There is a lot of difference between

ancient and modern bureaucracies.

Which factor among the following

does not denote this difference ?

(A) Greater  specialization  of
functions

(B) Vastness of
bureaucracy

(C) Dominant aspect of society

(D) Hierarchy of command.

modern

The ‘looking glass self” means that we

learn who we are

(A) Dby self feeling

(B) by an act of imitation

(C) by other people’s experience
with us

(D) by imagining ourselves to be
someone else
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20.

21.

22,

23.

The ‘super ego’ according to Freud
represents the part of an individual’s
personality that was created

(A) through socialization during
the formative years.

(B) through socialization in the old
age.

(C) through socialization process
which occurs throughout one’s
life.

(D) none of the above

Which one of the following is not a

functional  utility  of  social

stratification ?

(A) It  helps in  providing
opportunities.

(B) It develops a spirit of struggle.

<O It helps in deciding

responsibility of everyone in
the society.

(D) It  helps in identifying
unsuitable persons in society.

Which of the following theories
makes us believe that caste system is
not of human but of divine origin ?

(A) Racial theory

(B) Political theory

(C) Occupational theory
(D) Traditional theory

Which one of the following is an
essential element of the social class ?

Feeling of
(A) equality among the members
of a class.

(B) superiority against those who
are at the lower ladder of
status.

(C) inferiority against those who
are at the higher ladder of
status.

(D) all the above.

24.

25.

26.
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Consider the following statements :
Sanskritization is the process of

1. Orthogenetic change

2. Heterogenetic change

3. Change in cultural structure
4. Change in social structure

Which of the statement given above
are correct ?

(A) 1and3  (B) land4
(C) 2and3 (D) 2and4

Which of the following concepts are
applied to analyse the process of
civilization change ?

(A) Gemeinschaft and Gesellschaft

(B) Zweckrational and
Wertrational

(C) Mechanical and
Solidarity

(D) Sensate and Ideational Culture

Organic

Match List — I with List — II and
select the correct answer using the
codes given below the list :

List - 1 List - 11
(a) Ethnic 1. Naga Movement

(b) Reform 2. Jharkhand
Movement

(c) Secessionist 3. Birsa Movement
(d) Subnational 4. Bhakti

Movement
Codes :
(@ () (© ()
(A 3 2 1 4
B) 1 4 3 2
< 3 4 1 2
D) 1 2 3 4
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27.

28.

29.

30.

Who propounded the theory of
‘Internal Structure of Role’ ?

(A) Radcliffe-Brown
(B) Nadel
(C) Levistrauss

(D) Murdock

Who  among the  following
formulated the theory of ‘Middle
Class’ within ~ the  Marxian

framework ?
(A) Collins (B) Coser

(C) Dahrendorf (D) Engles

According to  Radcliffe-Brown,
which of the following does not
contribute to the integration and
survival of the society ?

(A) Kinship system
(B) Leadership

(C) Lineage

(D) Rituals

Which of the following requisites is
applicable to symbolic system of
Malinowski ?

(A) Production and distribution of
consumer goods

(B) Social control and regulation
of behaviour

(C) Organisation and execution of
authority

(D) Communal rhythm in daily life
and activities

31.

32.

33.
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In which of the following statements,
Durkheim has identified the indirect
functions of crime ?

(A) Collective sentiment against
the infringement of norms

(B) Fear of punishment
(C) Flexibility in society
(D) None of the above

Who has advocated that functional
analysis need not be confined to
society as a whole but it can be
extended to an  organisation,
institution or group ?

(A) Levistrauss (B) Malinowski
(C) Parsons (D) Merton

There are two statements, one
Assertion (A) and other is Reason
(R). Select the correct answer from
the codes given below :

Assertion (A) : Social analysis of
action is ultimately concerned
with individuals and not
collectivities.

Reason (R) Collectivities  are
treated as solely the resultants
and modes of organisation of
particular acts of individuals
and hence these alone can be
treated as agents in a course of
subjectively  understandable
action.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
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e 31 e fGF T, U AT

(A) 3R FE 1 FRT (R) el T & |

T {52 el H FErEd ¥ WE IW A

TIT R

Aafpe (A) : foFm (@ Fd) &
AT faveAToT 1 Ty 3ida:
STt % W1 Bl & TET % aig
T |

HRUT(R)  : 9l &I, A &
ooy Pl & 9 uRoTET 3R
TS & ®F H & TH 5l & 3R
T hael T &l AT &Y
T g AT HF B TS
AT ST HhATE |

He :

(A) (A) 3R (R) 3AT ¥ § 3R
(R), (A) = W&l AT |

(B) (A) @R (R) TH ¥ &, W
(R), (A) = Tt == &I & |

(©) (A)F=aE, "< (R) 3AE |

(D) (A) s@A e, T (R) FA ¢ |
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34.

35.

36.

37.

38.

Which of the following is applicable

to Pareto’s Logical Action ?

(A) Subjectively logical action

(B) Objectively logical action

(C) Both subjectively and
objectively logical action

(D) None of the above

Which of the following is associated
with basic principles of symbolic
interaction ?

(A) People cannot modify the
symbols used in interaction.

(B) People can modify the symbols
used in interaction based on
subjective understanding.

(C) People are able to modify or
alter the symbols used in
interaction based on the
interpretation of situation.

(D) People can modify symbols
used in interaction based on
the capacity to think.

According to Marx, which of the
following is considered to be the
most crucial element for class
struggle ?

(A) Class interest

(B) Class consciousness

(C) Class formation

(D) Class identity

Who was the first to wuse the
comparative method or indirect
experiment method in Sociology ?
(A) Max Weber

(B) Emile Durkheim

(C) Herbert Spencer

(D) V. Pareto

Who  has  used ‘participant
observation’ method for collection of
data ?

(A) A.R. Radcliffe-Brown

(B) B. Malinowski

(C) S.C.Dube

(D) N. K. Bose
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39.

40.

41.

Who has written on ‘objectivity’ in

his methodological writings ?

(A) W. Dilthey

(B) Emile Durkheim

(C) Max Weber

(D) Daya Krishna

Match List — I with List — II and

mark the correct answer from the

codes given below the lists.
List -1 List — II
(Books) (Authors)

(a) Rules of (i) Goode and
Sociological Hatt
Method

(b) Statistical
Reasoning in

(i) Max Weber

Sociology
(c) Methodology (iii) Schuessler
of Social and Mueller
Sciences
(d) Methods in (iv) Emile
Social Durkheim
Research
(v) P.F.
Lazarsfeld
Codes :

(@ O () (@
A @ () 3G @Gv)
(B) @G (i) @Gv) (1)
(©) (i) (v) () (1)
(D) Gv) (i) () (1)

Who has propounded the idea that
we can treat social  facts
(phenomena) as things ?

(A) R.K. Merton

(B) Paul F. Lazarsfeld
(C) Emile Durkheim
(D) Max Weber



34.

35.

36.

37.

38.

fr=ifeha @ @ ®F W IR I qHYOT

fopam =l rarRon & SryENT & 2

(A) TS T I dliche 62T |

(B) TS &Y W cA1feheh AT |

(C) =MD IR TS T 4 &
qTThen fohaT |

(D) SYFE | IS @l |

TelTehTcHeh 37T:Toha o Jotugd gt &

T I W1 G € 2

(A) Ia:TRaT § YA T T vt
T T 95T -Tel Fhcl € |

(B) HfMS WHI W ITEIRA
Jiefspar ©§ SuAI TR Uil i
AT ST Thel § |

(C) fafd & Taed & MR W
i SuFI TR Ul i
AT fRfaq & Tootde s8el Tohdl
gl

(D) WA W &HAT F MR W
iefspan § SuFI TR Uil Wi
AT ST Tl § |

AR & AR =Aifhd 7 9 =i 999 &
for&r M 1 o 31T Hewergul /T ST
g2

(A) = fed
(C) =T

(B) oA <
(D) =1 I TE=H

USRS | oI TSid a1 3T
T ST SEAHTST e Tha Tohar 2
(A) HRR  (B) UHIE gEM
(C) RTWHR (D) df. IR

3RS & TUE & o1 “Weurh STaeieh’
Y5 ST SUANT TR Tkt 2

(A) U.IR. EEAR-T13T

(B) St At

(C) Tww.dLgd

(D) WAF. 99

39.

40.

41.

fRe 310 ShAas oiEl | IRl W

fomane ?

(A) . feod
(B) UHTEA &
(C) TR
(D) TEFEN
A1t g1l 3 ag Gafera i
3R At {52 e <t TeTaaT | TEl IR A
TITHL
-1 -1
(T=TH) ()
(a) T 3% (i) TeudER
Tore
(b) RfeRewa (il) T IR
ES(RUES]
ElNpIEIE
(c) HTSTArS 31 (iii) MR Ud Hork
[T Qi
(d) HIH T AR (iv) THRA S@H
e
(v) UL.UE.
TIRTHeS

FHT

(@ (b (© (@
A @ () (3G @[Qv)
(B) (1) (i) @Gv) (1)
(©) i) (v) () (1)
(D) Gv) (i) () (1)

“gESIeR deAl (UNGT) @ISR
TR ST FHAT ST Thel1 € 1 T foraR
T wfquTTea fRaT g 2

(A) 3RF. T

(B) U UF. TIIREHeS

(C) THTEA g™

(D) TR AR
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42,

43.

44.

45.

46.

Which type of question(s) are
investigated in exploratory research
design ?

(A) Whyisit? (B) Whatisit?
(©) Howisit? (D) Alltheabove

Which method is more suitable for
collecting data from non-literate
communities ?

(A) Questionnaire

(B) Observation

(C) Both (A) and (B)
(D) None of the above

Purpose of case study method is

(A) To generalize about
relationships.
(B) To explore desired

relationships of a phenomenon.

(C) To explore maximum possible
relationships of a phenomenon.

(D) To relate it to select
relationships of a phenomenon.

Which average can be calculated
from an open ended table ?

(A) Median and Mode
(B) Mode and Mean

(C) Mean and Median
(D) None of the above

When one variable is qualitative and
another variable is quantitative,
which measure will be for finding
covariation between them ?

(A) Yule’s (Q)

(B) Phi coefficient ( ¢)
(C) Rank correlation (P)
(D) Chi square (xz)

47.

48.

49.

50.
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Match List — I with List — II and
mark the correct answer from the
codes given below the lists.
List -1 List - 11
(a) Participant (1) Max Weber
Observation
(b) Social Facts (i) R.K. Merton
(c) Versetehen (iii)) Emile
Durkheim

(d) Middle range (iv) A.R.
theory Radcliffe-
Brown
(v) W.F. Whyte
Codes :
@ () (© (@
A) (v i) (@) ()
B) Gv) (i) () (V)
(© @) Gv) G @)
D) Gv) ) @) (V)
Which of the following methods is
known as probability sampling ?
(A) A sample selected by lottery
from the totality.
(B) A sample selected of those
who were available.
(C) A sample selected considering
the purpose of research.
(D) A sample selected by
considering the various
categories of respondents.

Which one of the following statistics
will be used to find out covariation
between two qualitative variables ?
(A) Phi(9)

(B) Yule’sQ

(C) Both(A) & (B)

(D) None of the above

In which one of the following
concepts has  M.N.  Srinivas
explained caste mobility as a process
of Social and Cultural change ?

(A) Sanskritization

(B) Secularization

(C) Westernization

(D) Modernization



42.

43.

44.

45.

46.

TEYUTcHe: MY Tesie ¥ fhe R &
YT (3T Y STEI ol STt & 2

(A) TEHE?

(B) T@HE?

(C) TEFaUPRE?

(D) 3ot weft

R-TERT T 2he THAT FA & ford
I T UG SATRT S & ?

(A) VTS

(B) TRIUT (3TaAIR)

(C) (A) R (B) g

(D) SUEHI 4 Y Tl

A feteTeh- 3T Uil o1 3299 &

(A) TET S IR T A0TSR |

(B) URGY % Fifsd Grawl Sl S
FHET |

(C) URGET o ATeehas Fuiad e
I ST BT |

(D) URGET & T Tl d 39
et AT |

fagd afetet & M | AT Sl YRETOFT
1 ST Tehel1 & 2

(A) HITEsHT 3R Tgeth
(B) gt Ud A
(C) He ud Hifeet
(D) 3UgE | Y HIE TEl

SE UF W TAS & AR AT W
RO & T 3o ael TefoeoT 1
FH F ford fohg T T ITAN TRAT
ST ?

(A) FAF(Q)

(B)  Phi TUTisk (¢)

(C) wife TwEa= (P)

(D) 1 R ()2)

47.

48.

49.

50.

G-I st G113 T AT H 3R

e 5% Tl A FerFa ¥ TE IR A
TITHL
-1 -1
(a) TEHWT (i) T IR
ST
(b) ISR A2 (ii) 3R, WA
(c) AT (iif) THTEA 3
(STTeRTET)
(d) TeAEE (iv) T3S oFeTh-
g EIcT)
(v) SFU®. 9
?&':
@ ® © @
(A) (v) @) @) (>
(B) (iv) (i) (i) (v)
(©) (i) (v) @) (1)
(D) (iv) (@) @O (W)
it Tgfoal & @ i | wifgshar
e o A1 G ST Sl € 2

(A) T I et R w-Te Uiase |

(B) S Sucted & 378 | T wieiee |

(C) ¥ & T A &AW § W@ g
UFTSeT T 2 |

(D) Tafq=T ot o STRSTATST ol & |
T §U FIT WA= |

g1 TUTIeTe =R o g HE el A
& ford s | wiferes o suan fea
S ?

(A) Phi(¢)

(B) FTFQ

(©) (A) 3R (B)3Hl

(D) ST H H FFE TEl

AU, e 3 Feitea § 9 g
EYRIT H QISR WA Wihie
R & UTehaT & & T ST Maeietdm
I ST & ?

(A) HERIAHTOT

(B) AlchenishIor

(C) ufS=HRoT

(D)  MehIeRToT
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